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Question Number : 1 Question Id : 87827053995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When E- evaporation: T- transpiration; B- water needs for building up of plant body: CU- consumptive use;
ET- evapotranspiration; WR- water requirement: GW- ground water and ER- effective rainfall then irrigation requirement
(IR) of an individual crop at field head is given by the equation-

1. IR=E+T+B+ special needs

2. IR=WR-(E+T-B) + special needs
3. IR= WR+ER+GW-spacial needs
4 IR=ER + WR-CU+ET

Options :

878270212541, 1
878270212542. 2
878270212543. 3

878270212544. 4



Question Number : 1 Question Id : 87827053995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. IR=E +T +B + foRv sfazgmal

2. IR=WR-{E + T-B) + 4 3auerad
3.1R=WR + ER + GW-fa%y axaaat
4.IR=ER+WR-CU+ET

Options:

878270212541. 1
878270212542. 2
878270212543. 3
878270212544. 4

Question Number : 2 Question Id : 87827053996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Species of wheat that has gone practically out of cultivation in India because of its low productivity and disease
susceptibility Is-

1. Triticum aestivum

2. Triticum durum

3. Tniticum dicoceum

4 Triticum sphaerococcum

Options :
878270212545. 1
878270212546. 2

878270212547. 3



878270212548. 4

Question Number : 2 Question Id : 87827053996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212545. 1
878270212546. 2
878270212547. 3

878270212548. 4

Question Number : 3 Question Id : 87827053997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In view of storage of world's water resources, the share of ground water in total water in hydrosphere is-

1.1.92%
2.3.84%
3.2%

4 94 23%

Options :
878270212549. 1
878270212550. 2

878270212551. 3



878270212552. 4

Question Number : 3 Question Id : 87827053997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.1.92%
2.3.84%
3.2%

4 94 23%

Options :

878270212549. 1
878270212550. 2
878270212551. 3

878270212552. 4

Question Number : 4 Question Id : 87827053998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

Crops Varieties

(A). Wheat (). Pusa Sugandh 5

(B). Rice (I1). HD 2932

(C). Barley (). Pusa Composite 383
(D). Pearl millet|(IV).DWR 28

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (Il1}), (D) - (IV)

2 (A) - (I1), (B) - (1), (C) - (IV), (D) - (lIT)

3. (A) - (1), (B) - (I}, (C) - (IV), (D) - (IIT)

4 (A) - (), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270212553. 1
878270212554. 2
878270212555. 3
878270212556. 4

Question Number : 4 Question Id : 87827053998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (1), (B) - (II), (C) - (I}, (D) - (IV)

2. (A)- (I}, (B) - (1), (C) - (IV), (D) - (Il1)

3. (A) - (1), (B) - (II), (C) - (IV), (D) - (1ll)
|

4 (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212553. 1
878270212554. 2
878270212555. 3

878270212556. 4

Question Number : 5 Question Id : 87827053999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The critical stage(s) for irrigation in wheat is/are-

{A). Crown Root Initiation

(B). Late tillering

(C). Late jointing

(D). Dough

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2_(A), (B) and (C) only.
3 {A* (B). |G}and (D).

), (C) and (D) only

Options :

878270212557. 1
878270212558. 2
878270212559. 3

878270212560. 4

Question Number : 5 Question Id : 87827053999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212557. 1
878270212558. 2
878270212559. 3
878270212560. 4

Question Number : 6 Question Id : 87827054000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following millet crops in increasing order of acreage under each
(A). Finger millet

(B). Pearlmillet

(C). Little millet

(D). Kodo millet

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (C), (D), (A), (B)
3. (B), (A), (D), (C)
4. (D), (C), (A), (B)

Options :

878270212561. 1
878270212562. 2
878270212563. 3

878270212564. 4

Question Number : 6 Question Id : 87827054000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (C), (D)
2. C), (D), (A), (B).
3. (B), (A), (D), (C)
4 (D), (C), (A), (B)

Options :

878270212561. 1
878270212562. 2
878270212563. 3
878270212564. 4

Question Number : 7 Question Id : 87827054001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The allelochemical allyl isothiocyanate is found in the plant-

. sorghum
. Mustard
. Coffee

. Wheat

B T o

Options:
878270212565. 1
878270212566. 2

878270212567. 3



878270212568. 4

Question Number : 7 Question Id : 87827054001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212565. 1
878270212566. 2
878270212567. 3
878270212568. 4

Question Number : 8 Question Id : 87827054002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phenomenon of one plant having a detrimental effect on another through the production and release of toxic chemicals
Is termed as-

1. Synergism
2. Symbiosis
3. Allelopathy
4 Mutualism

Options :
878270212569. 1

878270212570. 2



878270212571.3

878270212572. 4

Question Number : 8 Question Id : 87827054002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212569. 1
878270212570. 2
878270212571. 3

878270212572. 4

Question Number : 9 Question Id : 87827054003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The herbicide Metsulfuron methyl belongs to the group-

- Pyridinones

- Phenols

. Sulfonylureas
- Oxidiazoles

L

Options :
878270212573. 1

878270212574. 2



878270212575. 3

878270212576. 4

Question Number : 9 Question Id : 87827054003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212573. 1
878270212574. 2
878270212575. 3

878270212576. 4

Question Number : 10 Question Id : 87827054004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the statement(s) is/are correct?

(A). Urea herbicides inhibit photolysis in photosynthesis

(B). Triazines inhibit the growth of emerging seedlings

(C). Sulfonyl ureas first affect the meristimatic tissues resulting into chlorosis and necrosis
(D). Paraquat is a systemic herbicide

Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (A),
4 (B),

B) and (D) only.

B) and (C) only.

B), (C)and (D).
3

— e — —

C) and (D) only

Options :

878270212577. 1
878270212578. 2
878270212579. 3

878270212580. 4

Question Number : 10 Question Id : 87827054004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212577. 1
878270212578. 2
878270212579. 3

878270212580. 4

Question Number : 11 Question Id : 87827054005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-I

Group

Herbicide

(A). Phenoxyacetics|(l). 2,4-D

(B).Ureas

(1) MSMA

(C). Triazines

(II1). Atrazine

(D). Arsenicals

(IV}.Isoproturon

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (IV), (C) - (lIT), (D) - (I}

4. (A) - (N, (B) - (IV), (C) - (1), (D) -(11)
Options :

878270212581. 1
878270212582. 2
878270212583. 3

878270212584. 4

Question Number : 11 Question Id : 87827054005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})

2. (A) - (1), (B) - (1), (C} - (11}, (D) - (IV)

3. (A) - (), (B) - (IV), (C) - (1), (D) - (11)

4_(A) - (1), (B) - (IV), (C) - (1), (D) - (I}
Options:

878270212581. 1
878270212582. 2
878270212583. 3
878270212584. 4

Question Number : 12 Question Id : 87827054006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Some herbicides control weeds by inhibiting photosynthesis. The sequence of reactions involved in the process is-
(A). Production of lipid radical and initiation of chain of lipid peroxidation

(B). Extraction of hydrogen from unsaturated lipids by triplet chiorophyll and singlet oxygen

(C). Oxidation of lipids and proteins

(D). Loss of chlorophyll and carotenoids

Choose the correct answer from the options given below:

(A
(A
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Options :

878270212585. 1
878270212586. 2
878270212587.3

878270212588. 4

Question Number : 12 Question Id : 87827054006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212585. 1
878270212586. 2
878270212587.3

878270212588. 4

Question Number : 13 Question Id : 87827054007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not true about organic agriculture?

1. Organic production system is managed in accordance to Organic Food Production Act of 1990.
2. Organic agriculture promotes and enhances biodiversity, biological cycles, and environmental stewardship

3. Organic farmers are inspected by independent certifying agencies and must follow specific crop and livestock production
quidelines

4 Weed control and fertilization are not the challenges faced by organic crop producers

Options:
878270212589. 1

878270212590. 2



878270212591. 3
878270212592. 4

Question Number : 13 Question Id : 87827054007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212589. 1
878270212590. 2
878270212591. 3

878270212592. 4

Question Number : 14 Question Id : 87827054008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Allowed inputs for organic production are-

1. Manure, compost, Elemental Sulfur and Rock phosphate
2. Bone meal, Blood meal | Soluble boron and glyphosate
3. Magnesium sulfate, manure, compost and Chlorpyriphos
4 Manure, compost and Imidachloprid

Options :

878270212593. 1



878270212594. 2
878270212595. 3

878270212596. 4

Question Number : 14 Question Id : 87827054008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. GG, PHIRE, TiHed 9od 3R s hiepe

2. Y YISH, Jad HIvH, goRid aRH 3R KR hEe
3. BIRE 9che, WG, AT 3R FRURRG Y

4. TG, WG AR SHSEaiis

Options:

878270212593. 1
878270212594. 2
878270212595. 3
878270212596. 4

Question Number : 15 Question Id : 87827054009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which statement is correct about organic agriculture?

1. Diverse rotations and nonsynthetic insecticides are used for insect management
2. Primarily synthetic herbicides and herbicide resistant transgenic crops are used
3. Greater inputs are used than conventional agriculture

4. Pnmarily synthetic fertilizers are used

Options :

878270212597. 1



878270212598. 2
878270212599. 3

878270212600. 4

Question Number : 15 Question Id : 87827054009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212597. 1
878270212598. 2
878270212599. 3
878270212600. 4

Question Number : 16 Question Id : 87827054010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is/are correct about cropping systems?
(A). Inclusion of legumes in the cropping systems.

(B). Intercropping is a cropping system in which two or more crops are grown together on the same field during a growing
5eason

(C). Green manure crop is grown in the cropping system for the primary purpose of ploughing under to improve soil fertiity
(D). Multiple cropping is the sequential production of two or more different crops from the same field each year
Choose the correct answer from the options given below:

1.(A)
2. (A),
3. (A),
4.(B),

B) and (D) only.
B) and (C) only.
B), (C)and (D).

C)and (D) only

e e e it

(
(
(
(

Options :

878270212601. 1
878270212602. 2
878270212603. 3

878270212604. 4

Question Number : 16 Question Id : 87827054010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212601. 1
878270212602. 2
878270212603. 3
878270212604. 4

Question Number : 17 Question Id : 87827054011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List- List-lI

System Description

(I). Atype of agroforestry where trees are grown in rows with annual or perennial crops between the

A) Agroforest
(A-Ag Y frees

(B).Alley Cropping |(I1).Atype of system where trees or shrubs are grown for harvest alongside other crops

(C). Strip cropping |(I11). Atype of polyculture where two or more crops are grown together at random

(D). Mixed (IV).A polyculture strategy that involves growing crops in adjacent strip planted within a field,it can
cropping Involve alternate rows of annual crops usually harvested at different times

Choose the correct answer from the options given below:

1. (A)-(Il), 8)- (1), (C)- V), (D) - (I

2.(A)-(1),(B)- 1), (C) - (), (D) - V)

3. (A)- (1), B) - (I1), (C)- (IV), (D) - I

4.(A)- (I, B)- (IV), (C)- 1), (D) - (1)
Options :

878270212605. 1
878270212606. 2
878270212607. 3

878270212608. 4

Question Number : 17 Question Id : 87827054011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A)- (1), (B)- (1), (C)-(IV), (D) - (I}

2. (A)-(1), (B) - (), (C)-(In), (D) - (IV)

3. (A)- (1), B)- (1), (C)- V), (D)- (1

4. (A)- (1), (B)- (V), (C)- (1), (D) ()
Options:

878270212605. 1
878270212606. 2
878270212607. 3

878270212608. 4

Question Number : 18 Question Id : 87827054012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are the activities performed while cultivating a crop, arrange them from first to last
(A). Ploughing

(B). Thinning

(C). Seeding

(D). Harvesting

Choose the correct answer from the options given below:

Options :

878270212609. 1
878270212610. 2
878270212611.3

878270212612. 4

Question Number : 18 Question Id : 87827054012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 1 el Y §HY 1 o 91l Toiaied 414 6 75 &, 9% Yl § 1R e T T T & H A o il

Options :

878270212609. 1
878270212610. 2
878270212611.3

878270212612. 4

Question Number : 19 Question Id : 87827054013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Di-ammonium phosphate contains-

o

1. Nitrogen (18%) and Phosphorus (46%)
2. Nitrogen (46%) and Phosphorous (18%)
3. Nitrogen (46%) only

4. Phosphorus (46%) only

P

Options:
878270212613. 1

878270212614. 2



878270212615. 3

878270212616. 4

Question Number : 19 Question Id : 87827054013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fE-emi-Ta Biehe A 8id & -

1. 13O (18 Uia=Id) AR BEGRY (46 Uia9d)
2. AIgeioH (46 UiAEd) 3R BIEHRY (18 W)
3. A1geioA (46 Uid=d)dhad

4 BIEHRY (46 UidEd)dhdd

Options:

878270212613. 1
878270212614. 2
878270212615. 3

878270212616. 4

Question Number : 20 Question Id : 87827054014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a market economy, resources are allocated by

1. Its demand

2. Adisaster

3. Prices

4 Demand and supply

Options :
878270212617. 1

878270212618. 2



878270212619. 3

878270212620. 4

Question Number : 20 Question Id : 87827054014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TN —

U iR gl H g9igql & 39d gRI 31dfed [ Sidi g--

1. 3! HA
2 Udh UG
3. Pd

Options:

878270212617. 1
878270212618. 2
878270212619. 3

878270212620. 4

Question Number : 21 Question Id : 87827054015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the marginal cost is greater than average cost, it means

1. Average total cost is increasing
2. Average total cost is decreasing
3. Average cost is constant

4 Can not be determined

Options :
878270212621. 1

878270212622. 2



878270212623. 3

878270212624. 4

Question Number : 21 Question Id : 87827054015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe daid drd, Sigd arTd 9 3@ 8, 91 396! 9dad &

1. gdpaarade &l e

2. 3d Sl dFld $H 8l Wl
3. 319d AT R B

4. g =gl fooar o gopd

Options:

878270212621. 1
878270212622. 2
878270212623. 3

878270212624. 4

Question Number : 22 Question Id : 87827054016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The production possibilities frontier shows

1. all combinations of two inputs that can produce a constant level of output

2. all combinations of two outputs that can be produced with a constant level of inputs
3. all levels of one output that can be produced with varying levels of inputs

4_an isoquant

Options :
878270212625. 1

878270212626. 2



878270212627. 3

878270212628. 4

Question Number : 22 Question Id : 87827054016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. Tl 392 & 9 9aioH ol SdTed & U6 R &R &1 3d16- &Y 9%d &

2. € AIeye & G WOIoH Sl SYE & Uob IR TR & WY I fopd off Webell ©
3. T H9TYE & GHI &R Sl 3AYE & i TRI & 1Y Jdicd fbT ol 9od &

4. Td (4I99S) HZHIBIE

Options:

878270212625. 1
878270212626. 2
878270212627. 3

878270212628. 4

Question Number : 23 Question Id : 87827054017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll
Schemes/ Events Year
(A). Lead bank scheme (1}. 1954

(B). All India Rural Credit Survey Committee((11).1975

(C). Regional Rural Banks (l). 1989

(D). Service Area Approach (IV). 1969

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

IV), (B) - (1), (C) - (lI), (D) - (1)
IV), (B) - (IlT), (C) - (IN), (D) - (1)
1), (B) - (IN, (C) - (Il1), (D) - (IV})
lll), (B) - (IV), (C) - (1), (D) - (11}

— — — —

Options :

878270212629. 1
878270212630. 2
878270212631. 3
878270212632. 4

Question Number : 23 Question Id : 87827054017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- B e -1 E it

it -1l

qraATe [ATHmH ad

(A) TS &F TraT (11954
(B) ST YR ATty Swur Saa || 11)1975
(C) &t wrH ¥% (1) 1989
(D) a1 &7 =ipsi (IV)1969
1 e U Tt 7 9 981 OR o1

1. (A) - (IV), (B) - (1), (C) - {||J D) - (lI1)

2. (A) - (IV), {B) {III) (C) - (1), (D) - (1)

3. (A)- (), (B) - (1), (C) - {llli-{D}-{l‘v’}
4. (A) - (i), (B) - {WJ (C)- (1), (D) - (1)

Options:

878270212629. 1
878270212630. 2
878270212631. 3

878270212632. 4

Question Number : 24 Question Id : 87827054018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Borrowing funds by the farmer's for paying tax to the government is known as-

1. Unproductive loan
2. Productive loan
3. Consumption loan
4 Purposive loan

Options :
878270212633. 1
878270212634. 2

878270212635. 3



878270212636. 4

Question Number : 24 Question Id : 87827054018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- =y

I PG TRPR DI H BT YA S & Y 87 IR Td & ol 38 Pel Sl 87

2 IAGH B
3. JUYRT

Options :

878270212633. 1
878270212634. 2
878270212635. 3
878270212636. 4

Question Number : 25 Question Id : 87827054019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Liberalization, Privatisation and Globalization (LPG) model of development was introduced by

1. Dr P Chidambaram

2. Smt. Nirmala Sitaraman
3. Dr Man Mohan Singh

4 Dr Yashvant Sinha

Options :
878270212637. 1
878270212638. 2

878270212639. 3



878270212640. 4

Question Number : 25 Question Id : 87827054019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy ATl

fqeTg &1 IgRarg, e 3R 34 (wadteh) Alsd fhgd gry uw favar mar ur?

|
s

1. 31 Ot fadawH
2 imdt fAdar didree

Options :

878270212637. 1
878270212638. 2
878270212639. 3
878270212640. 4

Question Number : 26 Question Id : 87827054020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The third amendment in the Indian Patent Act was introduced during

2004
. 2006
2008
2010

B T

Options :
878270212641. 1
878270212642. 2

878270212643. 3



878270212644. 4

Question Number : 26 Question Id : 87827054020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frg 9 & GRH W@ H Ue e (v giE) U f&anr

2004
2006
2008
2010

A o

Options :

878270212641. 1
878270212642. 2
878270212643. 3

878270212644. 4

Question Number : 27 Question Id : 87827054021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consumers' ability to identify the brand under different conditions, as reflected by their brand or recall performance is
known as

1. Brand audit

2. Brand awareness
3. Brand contact

4. Brand Community

Options :
878270212645. 1

878270212646. 2



878270212647. 3

878270212648. 4

Question Number : 27 Question Id : 87827054021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Juia ot fofir ORI i 3 UeaH &% 91 & o o 3 i a1 el e A il a2 20 o
T TH 1 37

i

2 ﬂ?‘i’ o[l 26:'(

4§13 9

Options:

878270212645. 1
878270212646. 2
878270212647. 3

878270212648. 4

Question Number : 28 Question Id : 87827054022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Financial requirement of the farmers can be classified on the basis of time period
(A). Short period

(B). Medium period

(C). Long period

(D). Very very long period

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).
4 (B), (C)and (D) only

Options :

878270212649. 1
878270212650. 2
878270212651. 3

878270212652. 4

Question Number : 28 Question Id : 87827054022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ i

Ol @1 AU Ao dhdl & THY a4 & YR U3 gAiidd [l o 9&dl &

(A) BITT 3afy

(B) HEOH 3fafe
(C) Tiall 3fafy
(D) §gd dial 3fafy

Td feu e fgwedl § 9 98 S| |

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), m::.aﬂ?fn
4. ®ad (B), (C) 3R (D)

Options :

878270212649. 1
878270212650. 2
878270212651. 3

878270212652. 4

Question Number : 29 Question Id : 87827054023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RBI set up a high level committee on agricultural credit chaired by Mr RV Gupta and he recommended
(A). Abolition of stamp duty on mortgage of agriculture land

(B). Modifiy service area approach

(C). Offer farmers a composite credit package

(D). Devise a liquid savings package

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2. (A), (B) and (C) only.
3.(A), (B), (C) and (D).
4.(B), (C)and (D) only

Options :

878270212653. 1
878270212654. 2
878270212655. 3

878270212656. 4

Question Number : 29 Question Id : 87827054023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRETSS A 41 AR . T @ e ¥ i B R U I T ST @1 T o R 3 3! R o
(A). IR +ffy 1 Fvd] Ve R 0 e 1 e

(B). ¥ & =PI H Feerd

(C). Tora @1 5 B0 Ut 1 U Y

(D). T el 3 Ul IR

e e 0 fadedt H 4 He TR |

1. %ad (A), (B) 3R (D)
2W(A~,(Ba?r{

3. (A), (B), (C) 3R (D)
4 %44 (B), (C) IR (D)

Options :

878270212653. 1
878270212654. 2
878270212655. 3
878270212656. 4

Question Number : 30 Question Id : 87827054024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the data is classified by attributes and if two or more characters are to be compared within each attribute we use the
statistical tool as.

1. Component bar diagram
2. Percentage bar diagram
3. Pie diagram

4 Multiple bar diagram

Options:
878270212657. 1

878270212658. 2



878270212659. 3

878270212660. 4

Question Number : 30 Question Id : 87827054024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e ST I fasIaiaft g iiced ol oI 8 AR 20G T fomiwen o e &1 41 €1 4 ¥ a0 @) e 1 9 2 al g
TiFSIPTT IR &1 U B4 2

1. 4¢P 52 AE (IR M)
2. 19 €3 1 (&R S/9M)
3. TR 3@

Options:

878270212657. 1
878270212658. 2
878270212659. 3

878270212660. 4

Question Number : 31 Question Id : 87827054025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The deviation of individual values from their average is called as

- Quartile deviation

- Mean deviation

. Standard deviation
- Relative dispersion

L

Options :

878270212661. 1



878270212662. 2
878270212663. 3

878270212664. 4

Question Number : 31 Question Id : 87827054025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 SHad Y eI Hedl o [daa @i &l ol

1. Iqd® fageH
2 11 fage

3. A fdgoH

4 GOt gfzam

Fa) '|_|,."

Options:

878270212661. 1
878270212662. 2
878270212663. 3

878270212664. 4

Question Number : 32 Question Id : 87827054026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll
Rural development programmes (year of starting )
(A). Prime Minister Rozgar Yojana (1). 2006

(B). Mahatma Gandhi National Rural Employment Guarantee Act(ll). 1999

(C). Swarnjayanti Gram Swarojgar Yojana (l11). 1989

(D). Integrated Watershed Development Programme (IV). 15th August 1993

Choose the correct answer from the options given below:

-(IV), B)- (1), (C)- I, {
(B) - (Hf), (C)- In,
(B) - (I, (G)- (V).
B) V), (G)- 1),

D
D
D

(D)-

) - (Il
)-(V
) - (Il
(Il

)
(D)- (V)
)
)

Options :

878270212665. 1
878270212666. 2
878270212667.3

878270212668. 4

Question Number : 32 Question Id : 87827054026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & Y -1 B e i

it Tt

araitor fome srdea (= B4 @1 )
(A) WTHET IR i (I) 2006

(B) HeTeH i AP AT ISR TR sfEFEE|) 1999

(C ) EauToRid 9TH TR gho (1989 5.
(DI arevRls faere srisa (IV)15 3T 1993
T T e S T SR T

1. (A)-(IV), (B)-(1), (C)-(11), (D)-(111)

2. (A)-(1), (B)-(l), (C)-(1), (D)-(IV)

3. (A)-(1), (B)-(I1), (C)-(IV), (D)-(111)

4. (A)-(n), (B)-(IV), (C)-(), (D)-(11)

Options :

878270212665. 1
878270212666. 2
878270212667. 3
878270212668. 4

Question Number : 33 Question Id : 87827054027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A process which aims at improving the well being and self realisation of people living outside the urbanized area through
collective process is known as

1. Social Development

2. Economic Development
3. Market Development

4 Rural Development

Options :

878270212669. 1
878270212670. 2
878270212671.3



878270212672. 4

Question Number : 33 Question Id : 87827054027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T il o] S0 W UTd o 1o § el &7 § TER ¥ it il ] Mel o o1t Y § QR @Al 3, &
U THI WA §

1. G [T
2 il e
3. R Ty
4 I oy

Options :

878270212669. 1
878270212670. 2
878270212671.3

878270212672. 4

Question Number : 34 Question Id : 87827054028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Community Development Programme was launched by the Government of India on

1. 2 October 1952
2. 2 October 1930
3. 2 October 1954
4 2 October 1947

Options :
878270212673. 1

878270212674. 2



878270212675. 3

878270212676. 4

Question Number : 34 Question Id : 87827054028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YrEIide (9P SiHsH YR WEHR gR R g% fhdr r o1

1.2 3G 1952
2.2 3faZET 1950
3.2 faTaY 1954
4. 2 faTET 1947

Options:

878270212673. 1
878270212674. 2
878270212675. 3

878270212676. 4

Question Number : 35 Question Id : 87827054029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When too much of an input is used, and output decreases, the production process results in

1. Constant returns
2_Increasing returns
3. Decreasing returns
4 Negative returns

Options :
878270212677. 1

878270212678. 2



878270212679. 3
878270212680. 4

Question Number : 35 Question Id : 87827054029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VI 9ga YD Y ST ST (a1 W1l 8, AR HIFTYE 4 g1 Il &, Al IeIGH Hishd &I URUITH Bl €

1 Tad drad!
3 Red d ot
4 FERIED e

Options:

878270212677. 1
878270212678. 2
878270212679. 3

878270212680. 4

Question Number : 36 Question Id : 87827054030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Rural Development Programmes in chronological order
(A). Marthandam

(B). Gurgaon

(C). Sarvoday

(D). Etwah Pilot Project

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2 (A), (D), (B), (C)

(B), {ﬁWijlﬂl

4. (C), (B), (D), (A).
Options :

878270212681. 1
878270212682. 2
878270212683. 3

878270212684. 4

Question Number : 36 Question Id : 87827054030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafaRad Imdior Gy SHHT B BrarHiad s T sgaiyd H1

(A) ArdsH

(D) Scdlg Uade URael
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1. (A), (B), (C), (D)
2. (A), (D), (B), (C)
3. (B).(A), (D), (C).
4 (C), (B), (D), (A).

Options :

878270212681. 1
878270212682. 2
878270212683. 3

878270212684. 4

Question Number : 37 Question Id : 87827054031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A measure of revenue and expenses during a specified accounting period is known as

1. Balance sheet

2. Income statement

3. Net worth statement

4 Economic loss statement

Options:
878270212685. 1
878270212686. 2

878270212687. 3



878270212688. 4

Question Number : 37 Question Id : 87827054031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7o RSP o 31l & SR T SR o &1 U UM & &0 3 S Sl 8, T8 § -

2. g faawu
3. f9d 4oy faaro
4. e g1 faawm

Options :

878270212685. 1
878270212686. 2
878270212687. 3
878270212688. 4

Question Number : 38 Question Id : 87827054032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India's Share in total World's Buffalo population is-

.20 %
. 93%
- 60%
- T0%

B A o

Options :
878270212689. 1
878270212690. 2

878270212691. 3



878270212692. 4

Question Number : 38 Question Id : 87827054032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v

fay & O o1 oa Sgen & YRd @ e

.20 %
.33 %
60 %
.70 %

T

Options :

878270212689. 1
878270212690. 2
878270212691. 3

878270212692. 4

Question Number : 39 Question Id : 87827054033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation, S = (cl, b, r, p, t.._) was first formulated by

1. Dokuchaiev
2. Jenny

3. Hilgard

4. Whitney

Options :
878270212693. 1
878270212694. 2

878270212695. 3



878270212696. 4

Question Number : 39 Question Id : 87827054033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHISEW S = (cl b, r, p, t) FAUH g R g faar a1 ur?

1. Siddd
2

3. feams
4 feget

Options :

878270212693. 1
878270212694. 2
878270212695. 3
878270212696. 4

Question Number : 40 Question Id : 87827054034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following minerals is a boron mineral in soils?

1. Pyrolusite

2. Colemanite
3. Haematite

4. Apatite

Options :
878270212697. 1
878270212698. 2

878270212699. 3



878270212700. 4

Question Number : 40 Question Id : 87827054034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafaa wfH=t o R & @ &

Options :

878270212697. 1
878270212698. 2
878270212699. 3

878270212700. 4

Question Number : 41 Question Id : 87827054035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement is/are correct with reference to bulk density?
(A). Bulk density of soil depends on texture, structure and organic matter.

(B). Bulk density decreases with addition of organic matter to the soil.

(C). Fine textured soils have more bulk density than coarse texture soil

(D). Compaction of soil increases the bulk density.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B)and (C) only.
3. (A), (B), (C) and (D).
4. (B), (C)and (D) only

Options :

878270212701.1
878270212702. 2
878270212703. 3

878270212704. 4

Question Number : 41 Question Id : 87827054035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ (bulk) Td & oo H FofafEa 5 4 o1 O oy 1e1 /22

(A) 781 &1 9 (bulk) T & e, WA 3R Sree Te W R S 2|

(B) V1 S § FIai-e Uery e Sl 3 dl S (bulk) Tcd BH B o1l 31

C) T §rde aral gt d A1t (1Y) sFae arel g) &1 o | 3@ 9 (bulk) 99 21l 3
D) 51 &1 &= e (bulk) TIc B! IETTl 3|
i e U fa@edl H ¥ §g SR |

1 ®ad (A). (B) R (D)
2 Had (A), (B) IR (C)

3.(A), (B), (C) R (D)
4 Had (B), (C) 3R (D)

Options :

878270212701.1
878270212702. 2
878270212703. 3

878270212704. 4

Question Number : 42 Question Id : 87827054036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-lI

(Soil Forming process)

(Description)

(A). Laterization

(). Mixing of Soll

(B). Podsolization

(I1). Accumulation of Sesquioxide

(C). Pedoturbation

(111). Hydromeorphic

(D). Gleization

(IV). Eluviation of Sesqueoxide

Choose the correct

answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1IT)
Options :

878270212705. 1
878270212706. 2
878270212707. 3
878270212708. 4

Question Number : 42 Question Id : 87827054036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & FYE-Il BT e ey

it Tt

(ger f=rator witean) (faa=on)

(A) TESuRH (1) Targt &1 fagon

(B) TiswiaTsui=- (Il). THIFEEE & T9g
(C) USIega=H () TS SHIfhs

(D) TTSwEH (IV). S5Bigs &1 faam
TR e T el 5 3 98 SR

1. (A) - (D), (B) - (1), (C) - (1T}, (D) - (IV)

2. (A) - (1), (B) - (l1), (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (1D, (C) - (IV), (D) - (llT)

4 (A) - (11}, (B) - (IV), (C) - (1), (D) - (llT)

Options:

878270212705. 1
878270212706. 2
878270212707.3

878270212708. 4

Question Number : 43 Question Id : 87827054037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A soil, which has pH more than 8.5, ESP more than 15 and EC less than 4 ds/m is called?

1. Saline Soll

2. Alkali Soll

3. Saline-Alkali Soil

4. Degraded Alkali Soll

Options :
878270212709. 1
878270212710. 2

878270212711.3



878270212712. 4

Question Number : 43 Question Id : 87827054037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e o ot pi. 785 € i €, ESP A 159 o &1 R EC A 4 dsimAfex ), B P g 31

2. &g gt
4 Fliepa & gt

Options :

878270212709. 1
878270212710. 2
878270212711.3

878270212712. 4

Question Number : 44 Question Id : 87827054038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT considered as a chemical weathering?

1. Hydrolysis
2. Carbonation
3. Reduction
4. Calcification

Options :
878270212713. 1
878270212714. 2



878270212715. 3

878270212716. 4

Question Number : 44 Question Id : 87827054038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafed # § &9 Tume ™em 381 9m1 kT 82

1. (BT oI yoIdl U<

-

Options:

878270212713. 1
878270212714. 2
878270212715. 3
878270212716.4

Question Number : 45 Question Id : 87827054039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence in terms of the increasing order of soil loss from the field due to water erosions
(A). Gully erosion

(B). Rill erosion

(C). Splash erosion

(D). Sheet erosion

Choose the correct answer from the options given below:

Options :

878270212717.1
878270212718. 2
878270212719.3
878270212720. 4

Question Number : 45 Question Id : 87827054039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U1 & &R & DR Ed ¥ E1 & 59 & UeH H 9od HH ® A H ouaredd o3
(A) TTefl DeTd

(B) 3 &R

(C) T Herd

(D) iie &R

i feu e fdwedl J U U S| |

Options :

878270212717.1
878270212718. 2
878270212719.3

878270212720. 4

Question Number : 46 Question Id : 87827054040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Size range of soil particles in saltation type of wind erosion is___

1. 0.5-1.0 mm
2.1.0-2.0 mm

3. 0.05-0.5 mm
4 0.002-0.05 mm

Options:
878270212721. 1
878270212722.2

878270212723. 3



878270212724. 4

Question Number : 46 Question Id : 87827054040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 &RU1 & WiciewH UbR H gl & &l &l AR dH 1 __ Bl

1.0.5-1.0 f&Hi

2. 1.0-2.0 f&i

3. 0.05-0.5 f&Ht
4. 0.002-0.05 oI

Options :

878270212721.1
878270212722. 2
878270212723. 3

878270212724. 4

Question Number : 47 Question Id : 87827054041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Chepil and Milne (1941)(1). Protection of soil surface from wind action

(B). Surface creep (II). Alternate arrangement of erosion susceptibilty and erosion resistant crop

(C). Vegetative residue (). Coarse soil particles

(D). Strip cropping (IV). Mechanics of soil movement by wind

Choose the correct answer from the options given below:

1.(A)- (1), (B) - I}, (C) - (I, (D} - (IV)

2.(A)- (1), (B) - (1), (C) - (1), (D) - (IV)

3.(A)-(IV), (B) - (1), (C) - (1), (D) - (11

4.(A)-(llr), (B) - (IV), (C) - (1), (D) - (If
Options :

878270212725. 1
878270212726. 2
878270212727.3

878270212728. 4

Question Number : 47 Question Id : 87827054041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T -| BT -l G A Bt

- I
(A) 3t 3R e (1941) (1) gaT o1 foba & Ot 6t et T Ry
(B) HE T (Il) FeTT TSR AR FeTa Wokid! BUw S dbicdd IR
(C) TR iy (I TR S & 30
(D) Reg Wi (IV) 51 5T gt sifeiem & aifet
I 5T T fawedi 5 § U5l IR |
A) - (1), (B) - (1), (C) - (1), (D) - (IV)
A) - (1), (B) - (1), (C) - (1), (D) - (IV)
A) - (IV), (B) - (INN), (C) - (1), (D) - (I1)
4 ( )-(111), (B}-(IV), (C)-(1), (D)-(1)
Options:

878270212725. 1
878270212726. 2
878270212727.3

878270212728. 4

Question Number : 48 Question Id : 87827054042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Universal Soil Loss Equation, A=RKLSCP. K denotes

1. Soil Conservation practices
2. Soil roughness

3. Soil erodibility

4 Rainfall factor

Options :

878270212729. 1
878270212730. 2
878270212731.3

878270212732. 4



Question Number : 48 Question Id : 87827054042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

AHITHS JaT 81 FHIGI0 H, A = RKLSCP, K G=idl

1. FGT H&0T gy
3. &l &R
4 99 PRD

Options:

878270212729. 1
878270212730. 2
878270212731.3

878270212732. 4

Question Number : 49 Question Id : 87827054043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The practice of conducting all field operations such as ploughing, planting, and cultivating land across the slope are
called....

1. Contour Farming
2. Strip Cropping
3. Terrace Farming
4 Inter Cropping

Options :
878270212733. 1
878270212734. 2

878270212735. 3



878270212736. 4

Question Number : 49 Question Id : 87827054043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & UR 4 R 9d1s, U0 3R Wl o8 G & Bl @i Hellicrd B 1 71 B Bel el 5|

1. I (i) Tt

2. feuddl

3. dfca G55 (@)
4.5??ﬁﬁfWJﬁﬁiqfﬁ

Options :

878270212733. 1
878270212734. 2
878270212735. 3
878270212736. 4

Question Number : 50 Question Id : 87827054044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll
(Plant Diseases/ Famine) (Year)

(A). Irish Famine: (). 1943
(B). Bengal Famine (1. 1870
(C). Coffee rust (1l1). 1845
(D). Downy mildew of tobacco ((IV). 1950

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

(1l ( )

4. (A) - (1), (B) - (1), (C) - (11}, (D) - (IV

Options :

878270212737.1
878270212738. 2
878270212739.3

878270212740. 4

Question Number : 50 Question Id : 87827054044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- & Y -1 B ditey

it Tt
(9TG9 IRT/ 3IdTe) @d)

(A) HENE @ (1) 1943
(B) ST &1 BT (I). 1870
(C) BIP! T (111). 1845
(D) daTd &1 B34 fHesy (IV)1950
T Ru T el & @ 981 9 1
1. (A) - (1), (B) - (1), (C) - (lI1}, (D} - (IV)
2. (A) - (1), (B) - (1), (C)- (1), (D) - (IV)
3. (A)-(1), (B) - (1N, (C) - {I"u’j (D) - (ll)
4. (A) - (1), (B) - (), (C) - (1), (D) - (IV)

Options :

878270212737. 1
878270212738. 2
878270212739. 3

878270212740. 4

Question Number : 51 Question Id : 87827054045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bordeaux mixture is a mixture of .

1. Copper sulphate and hydrated lime
2. Copper sulphate and slaked me
3. Calcium sulphate and hydrated lime
4 Calcium sulphate and slaked lime

Options :
878270212741. 1
878270212742. 2

878270212743. 3



878270212744. 4

Question Number : 51 Question Id : 87827054045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

alsiay My, fos Us By g

1. IR Gcbe AR BEacs TIgH

2. BIR Getbe AR g1 g3 Il

3. Pfeaad gee AR Bl3acs Ay
4. SHiaH Gebe AR T g 1

Options :

878270212741. 1
878270212742. 2
878270212743. 3

878270212744. 4

Question Number : 52 Question Id : 87827054046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who reported that fire blight of pear was caused by a bacterium?

1. Prevost

2. E.J. Butler
3. T.J. Burrill
4. E.F. Smith

Options :
878270212745. 1
878270212746. 2

878270212747. 3



878270212748. 4

Question Number : 52 Question Id : 87827054046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT &1 HIER &ilse U SiidIY] & HRU Bidl & I8 [hdd gRI ol 17

Options :

878270212745. 1
878270212746. 2
878270212747. 3

878270212748. 4

Question Number : 53 Question Id : 87827054047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence of spores production in Puccinia
{A). Urediospores

(B). Aeciospores

(C). Basidiospores

(D). Teleutospore

Choose the correct answer from the options given below:

1. (A), (
2. (A), (
A
%)

e

), (C), (D)
), (B), (D)
A), (D), (C)
A), (B), (D)

P

3. (B)
4 (C)

Options :

878270212749. 1
878270212750. 2
878270212751.3

878270212752. 4

Question Number : 53 Question Id : 87827054047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G -1 H SIS & IdTe B 5hH Fdieyd B3

[ —

Td feu e fgwedl § 9 98 S| |
1. (A), (B), (C), (D)
2. (A), (C), (B), (D)
3. (B), (A), (D), (C)

. (B),

4 (C), (A), (B), (D)

Options :

878270212749. 1
878270212750. 2
878270212751.3

878270212752. 4

Question Number : 54 Question Id : 87827054048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Viroids are discovered by...

1. Diener
2. Prusiner
3. Doi

4 Kassanis

Options:
878270212753. 1
878270212754. 2

878270212755. 3



878270212756. 4

Question Number : 54 Question Id : 87827054048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aaRise & O fhad gr1 &1 i

1. SR

2. Yol
T )
4 HEHEI

Options :

878270212753. 1
878270212754. 2
878270212755. 3

878270212756. 4

Question Number : 55 Question Id : 87827054049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ratoon stunting disease of sugarcane Is caused by

1. Virus

2. Fungi

3. Bactena

4 Nematodes

Options :
878270212757. 1
878270212758. 2

878270212759. 3



878270212760. 4

Question Number : 55 Question Id : 87827054049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. AERY
2. HaD

3. dadit
4 SHICISH

Options :

878270212757. 1
878270212758. 2
878270212759. 3
878270212760. 4

Question Number : 56 Question Id : 87827054050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the correct sequence of events in a disease cycle
{(A). Colonization

(B). Infection

(C). Inoculation

(D). Penetration

Choose the correct answer from the options given below:

Options :

878270212761. 1
878270212762. 2
878270212763. 3

878270212764. 4

Question Number : 56 Question Id : 87827054050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ — Tha

IMIFH A Fgfaied gensi &1 98 HH atyd & -

(A) DI &

(B) THHU
(C) SIpTaT]
(D) 4o

A
ol
ol

U U fddmedl § T Tel IR 4|

Options :

878270212761. 1
878270212762. 2
878270212763. 3

878270212764. 4

Question Number : 57 Question Id : 87827054051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(Cattle Breeds.) |(Crossing Breeds)
(A). Karan Swiss|(l). Brown swiss with Red Sindhi

(B). Karan Fries [(II). Brown swiss with Sahiwal

(C). Frieswal (II1). Holstein-Friesian with Tharparkar

(D). Sunandini  [(IV). Holstein-Friesian with Sahiwal

Choose the correct answer from the options given below:

1. (A) -

(1), (B) - (IN), (C) - (1), (D) - (IV
2. (A)-(
(
(

(IV})

1), (B) - (II), (C) - (I1), (D) - (IV}
3. (A)- (Il )
(1)

1), (B) - (1), (C) - (IV), (D) - (I
4.(A)-( (I

I}, (B) - (IV), (C) - (1), (D) - (Il

Options :

878270212765. 1
878270212766. 2
878270212767.3
878270212768. 4

Question Number : 57 Question Id : 87827054051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3R -1l B Bifed

it -1l

(G AE)  ((PIT A)

(A) T &9 (1) o iR & a1y erea

(B) 01 WIS |(11) TG iaTe & 91 13- a9
(C)WIEma  |(IIl) YRR o H1Y e H-5hiwa

(O) T | ) rforer 3 w7 e v
T3 feu U facedi 7 § 9el IR 9|

1.(A) - (1), (B) - (I1), (C) - (1), (D} - (IV)

2. (A) - (1), (B) - (), (C) - (IN), (D} - (IV)

3. (A)- (H}{BJ (111), (C) - (IV), (D) - (1)

4. (A) - (), (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270212765. 1
878270212766. 2
878270212767. 3

878270212768. 4

Question Number : 58 Question Id : 87827054052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In open pollinated variety of maize how much minimum isolation distance is required to produce foundation seed-

1.400 m
2.200m
3.100m
41000 m

Options :
878270212769. 1
878270212770. 2

878270212771.3



878270212772. 4

Question Number : 58 Question Id : 87827054052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D 1 Gel TR (6w 1 i St TG o FoTG b1 i TG Gl 1 SfTa=epe Bl 62

1.400 m
2.200 m
3.100 m
4.1000 m

Options :

878270212769. 1
878270212770. 2
878270212771.3

878270212772. 4

Question Number : 59 Question Id : 87827054053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is TRUE about T cytoplasm?

1. It 1s a source of male sterility in soyabeans.

2. It is the primary male sterile cytoplasm in sunflower.
3. It induces male sterility in maize

4. It causes self-incompatiblity in maize

Options :
878270212773. 1
878270212774. 2

878270212775. 3



878270212776. 4

Question Number : 59 Question Id : 87827054053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad 3 9 o1 9 oY T(QEewTsH) $ifle 50 & a1 & 981 82

1. U 9g@q § 7R 91504 &1 U@ 9id 5

2. U8 Yol | urdfHe R SlauRied Sifie s gl
3. U8 Ag® § a0 & Ud &l o

4. O 9o § HH-HUTdal & SR &-dl 8

Options :

878270212773. 1
878270212774. 2
878270212775. 3

878270212776. 4

Question Number : 60 Question Id : 87827054054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the title of the paper written by Gregor Johann Mende! and published in 18667

1. Experiments on Plant Hybridization
2. Hybridization in pea.

3. Hybridization experiments on Pea
4. Experiments on Pea Hybridization

Options :
878270212777. 1
878270212778. 2

878270212779. 3



878270212780. 4

Question Number : 60 Question Id : 87827054054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R SigH Hsd g fifd 3k 1866 H UoIRId G0 & it @ar 41?2
1. TaHURHe 3 Wic sagsHaEH

SfSSIgoRH 34 Ul
S SuE UauiEe 39 of

TEEUiET 3 U sofasmeeH

s
3.
4

Options :

878270212777. 1
878270212778. 2
878270212779. 3

878270212780. 4

Question Number : 61 Question Id : 87827054055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-l

(Term)

(Coined by)

(A). Mutation

(). W. Waldeyer

(B). Gene

(1. K. Mather

(C). Chromosome

(II1). Hugo de Vries

(D}). Polygenes

(IV). Wilhelm Ludvig Johannsen

Choose the correct answer from the options given below:

1.(A)-(), (B) - (I
2.(A)-(),(B)-(I
3.(A)-(). (B)-(l
4. (A)- (), (B) - (
Options :

878270212781. 1
878270212782. 2
878270212783. 3

878270212784. 4

), (C D
1), (C) -
), (C) -

V), (C) -

) - (1),
(1), (D
(IV), (D

(., (D) -

(IV
(IV

(D) - (IV})
(D) - (IV})
L){”l]
(1)

Question Number : 61 Question Id : 87827054055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 Ty -1l BT e ey

- Tt

(ATH) (&R fear rm)

(A) IR (1) S5, TCedR

(B) & (1) &. AR

(C) BIAEH (1) T St a

(D) Giciter= (Iv). faeea gsfae wigHaA

T RT T e & @ 98 SR )

1_(A) - (1), (B) - (IN), (C) - {|||:| (D) - (IV)

2 (A) - (1), (B) - |||} (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)

4. (A) - (1), (B) - {WH ) - (1), (D) - (11}
Options:

878270212781. 1
878270212782. 2
878270212783. 3

878270212784. 4

Question Number : 62 Question Id : 87827054056 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




Arrange the following sub-stages of prophase | in meiotic cell division in the correct sequence:
(A). Zygotene

(B). Leptotene

(C). Diplotene

(D). Pachytene

Choose the correct answer from the options given below:

Options :

878270212785. 1
878270212786. 2
878270212787.3

878270212788. 4

Question Number : 62 Question Id : 87827054056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=

FifeD (SAAR) DI fawTe & WHY | & FEigd SU-3R001 & 981 354 § JaRyd oY
(A) ST

(B) TP

(C) fewicH

(D) YTl

e e T fowed & € TR SR

1. (A), (B), (C

), (

), (D)
), (C)
()

[ ]
=
=
2=

Options :

878270212785. 1
878270212786. 2
878270212787.3
878270212788. 4

Question Number : 63 Question Id : 87827054057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?
(A). In F1 generation, when the offspring is intermediate of both parents, then it is called co-dominance.

(B). Polytene chromosomes are formed by the repeated replication of chromosomal DNA without subsequent nuclear
division.

(C). Mutation Is the ultimate source of variation in the population.
(D). Gregor Mendel investigated characters in the garden pea plant that were manifested as two opposing fraits.
Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2. (A), (B)and (C) only.
3.(A), (B), [C)and(

4.(B), (C)and (D) only

Options :

878270212789. 1
878270212790. 2
878270212791.3

878270212792. 4

Question Number : 63 Question Id : 87827054057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafied H § &1 9 59 981 32

A) F1 W@ ¥, 918 GaH g w1 & gerad gl 3, o 39 9e-U4 el 91l ¢

(B) TGS U TR ST @1 §R-SR Widdid g1 S AHGIY [qHIeH B {61 80 &1 ¢
C) ARG G H ferc @1 3 B &

(D) IR B30+ AR & &0 & U1y 1 9 7701 &1 9119 &1.91 & foRieT &0 & &0 H ywe gu
rd feT U fadedt H § W8t IR 7|

1.9ad (A), (B) 3R (D)
2 Had (A), (B) 3R (C)

3. (A), (B), (C) R (D)
4 Had (B) (C) IR (D)

Options :

878270212789. 1
878270212790. 2
878270212791.3

878270212792. 4

Question Number : 64 Question Id : 87827054058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following substances can be used to break the dormancy of buds?

1. Phenolic acid

2. Para - ascorbic acid
3. Gibberellic acid

4 Abscisic acid

Options:
878270212793. 1

878270212794. 2



878270212795. 3

878270212796. 4

Question Number : 64 Question Id : 87827054058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad § 4 fog uerd o1 3uai sfagl &1 Fisead & a4 & ot foar < 9adl 82

2 .U aP TS
3. foreaifere Uiy

Options:

878270212793. 1
878270212794. 2
878270212795. 3

878270212796. 4

Question Number : 65 Question Id : 87827054059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is a shared characteristic between vegetative reproduction and apomixis?

1. Both produces progeny identical to the parent.

2 Both produces parthenogenetic seeds.

3. Both are applicable only to dicot plants

4 egetative reproduction can fix heterosis, not apomixis.

Options :
878270212797. 1

878270212798. 2



878270212799. 3
878270212800. 4

Question Number : 65 Question Id : 87827054059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfa® Ua 3R Uifafeay & &g U 9= f92mar a1 g2

GHI AT & §9ET G Ja $d &

AT (e E) A e §iW 99 FYd B

EHT € Sac fedisE didf W ar e 2

G U 2ot & 1% &2 9adl &, I3=g UUIfHiEesd &1 g

B T o

Options:

878270212797. 1
878270212798. 2
878270212799. 3

878270212800. 4

Question Number : 66 Question Id : 87827054060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct with regard to position of emergence of flower buds in different fruits?
(A). Inmango, fruit buds borne terminally and unfold to produce inflorescence without leaves

(B). Inapple, fruit buds borne both terminally and laterally but unfolding to produce inflorescence terminally.

(C). In pears, fruit buds borne terminally unfolding to produce leafy shoots terminating into flower clusters

(D). In jackfruit, fruit buds always borne adventitiously in old trunk or shoots.

Choose the correct answer from the options given below:

1.(A
2.(A
3. (A
4B

B) and (D) only.
B) and (C) only.
C)and (D) only
C)and (D) only

T i it

X
X
X
X

Options :

878270212801. 1
878270212802. 2
878270212803. 3

878270212804. 4

Question Number : 66 Question Id : 87827054060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafiF oreR U1 8 Bl @) diodl o g @) 1 § Geita Fofarea ol A A oH S A T 2

(A) 3T, Tt 1 hTeral ofd e Gl gl @ R far] U o Ju0sh] 1 STt 3] b ford il

(B) ¥ ¥ el &1 Bicrdl 3ffcd R e 2l g ¥ DR R ©, et ofd H qepA 1 S @ & ot g g
(C) =IOl &, el @1 fcrdl ofd H Gl & Tl H WHIE g et TiGR el ] el e b forl W1 3Tl 2
(D) TeEa &, el @1 crd gHs QR o 41 ST 7 Wigid 0 3 T 3 &

T Gr T e 5 ¥ T SR |

1. 0 (A), (B) 3R (D)

2. % (A), (B) 3R (C)

3. % (A), (C)R (D)

4 %d4 (B), (C) AR (D)
Options :

878270212801. 1
878270212802. 2
878270212803. 3

878270212804. 4

Question Number : 67 Question Id : 87827054061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following system follows vertical row planting pattern system of layout-

1. Rectangular system.
2. Hexagonal system.
3. Quincunx system

4 Trniangular system

Options:
878270212805. 1
878270212806. 2

878270212807. 3



878270212808. 4

Question Number : 67 Question Id : 87827054061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafead # 4 @i 4 g (cdeir3e) o= ot 3 dfdd a0 Ge Jomel &1 SR & § -

1. TTAHR Y|
2. WTHIUIG YUreH |

Options :

878270212805. 1
878270212806. 2
878270212807. 3

878270212808. 4

Question Number : 68 Question Id : 87827054062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements / characteristics about the Gir breed of cattle and choose the correct one:
(A). The breed originated in the regions of Karachi and Hyderabad (Pakistan) during undivided India.

(B). The breed is characterized by uniquely curved horns, imparting a distinct ‘hal-moon’ appearance.

(C). This breed is renowned for its hardiness and resistance fo diseases.

(D). The milk production of the Gir breed typically ranges from 1200 to 1800 kgs per lactation.

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2. (A), (B)and (C) only.
3. (A), (B), (C) and (D).
4.(B), (C) and (D) only

Options :

878270212809. 1
878270212810. 2
878270212811.3

878270212812. 4

Question Number : 68 Question Id : 87827054062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T @1 R 7 & 9R 8 FfoRad syt faRedred | feR &1 iR 981 &yl &1 997 a3
(A) T8 Toa HGUITSTd YR & GRH S IR gaeTG (WidedH) & &7 § 37 g3 4|

B) =T @1 ARy ©U T gAaeR O @1 fa=ivaT &, 51 U o 3¢5 mr &0 eH Sl o
C) Ig T U Do Rl 3R I o WieklY o fefw Ui 81

D) R %1 &1 G JeIe 3 IR W S T 1200 ¥ 1800 feiim da gial 8

2 U e fadedt 4 € w8 T |

1. %94 (A), (B) 3R (D)
2%?«:;; ) (B) 3R (C)

3.(A), (B), (C) 3R (D)
4 ®ad (B), (C) 3R (D)

Options :

878270212809. 1
878270212810. 2
878270212811.3

878270212812. 4

Question Number : 69 Question Id : 87827054063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Climacteric fruits are-

1. Banana and Mango
2. Banana and Grapes
3. Grapes and Mango
4 Citrus and Peach

Options:
878270212813. 1

878270212814. 2



878270212815. 3

878270212816. 4

Question Number : 69 Question Id : 87827054063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR (@ Re) B & -

1. Dol 3R 3
2. ell 3R R
4. Wged AR U

Options:

878270212813. 1
878270212814. 2
878270212815. 3

878270212816. 4

Question Number : 70 Question Id : 87827054064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI

(Elements) (Functions in plants)

(A).Iron (). Chlorophyll biosynthesis
(B). Zinc (I1). Photolysis of water

(C). Manganese

(). Indole Acetic Acid biosynthesis

(D). Boron

(IV). Translocation of sugars

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (IN), (C) - (IV), (D) - {III]

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270212817. 1
878270212818. 2
878270212819. 3

878270212820. 4

Question Number : 70 Question Id : 87827054064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 Ty -1l BT e ey

it Gifl

(e (gl & o)

(A) SO (1) FEORIGE Sagwey
(B) foiw (I1) 9T &1 Teieg
(C) HHe (1) E5IT TR s TS oagTaym
(D) SR (1) TR ST TR0
-d feu TTe fadedl § © 98! 3R |
1.(A) - (1), (B) - (IN), (C) - {|||:| (D) - (IV)
2. (A)- (1), (B) - |||} (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)
4. (A)- (), (B) - {WH ) - (1), (D) - (1)

Options:

878270212817. 1
878270212818. 2
878270212819. 3

878270212820. 4

Question Number : 71 Question Id : 87827054065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following electron carriers in the correct sequence of electron flow during photosynthesis in the thylakoid
membrane:

(A). Cytochrome hg-f complex

(B). Plastoquinone

(C). PS

(D). Plastocyanin

Choose the correct answer from the options given below:
A

1
1
1

]

B

i T =

(

=]

)
)
(C)
(A)

) (

(

=
CJ

B

=]

A)
B), (D)

=
[

(A),(
(A),(
.(B),(
),

I e

B .. .
C), (B), (D),
Options :

878270212821. 1
878270212822. 2
878270212823.3

878270212824. 4

Question Number : 71 Question Id : 87827054065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UZIPIgS fafccil H FOTR] SRVl 5 SR AT Jeide died! @1 JeideH WaTe & Fal 3fshH H aaed B
(A) WECHH ;- T (bs) PIFCIF

(B) QNG

(C) e

(D) T

A feu T fadedl € W) S |

]

=

-(A), (B), (C), (D)
_(A), (C), (B), (D)
.(B), (A), (D), (C)
_(C), (B), (D), (A)

(]
=

o = (%] Mo ——
=
&

3
]
!

[ms)

Options :

878270212821. 1
878270212822.2
878270212823.3

878270212824. 4

Question Number : 72 Question Id : 87827054066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements about agrisilviculture and choose the correct statements:

(A). tis a land management system where plantation of tree crops and agriculture are practiced simultaneously on the
same plot of land.

(B). It can be used to produce both wood and agricultural crops.
(C). Itis & sustainable land-use system that can improve soil health and reduce erosion.

(D). Itis a three-dimensional production system designed for the concurrent production of agricultural crops, forest crops
and fodder for rearing of domesticated animals on the same plot of land.

Choose the correct answer from the options given below:

1.(A)
2. (A),
3. (A),
4.(B),

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C)and (D) only

=t e it

(
(
(
(

Options :

878270212825. 1
878270212826. 2
878270212827.3
878270212828. 4

Question Number : 72 Question Id : 87827054066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pi-Rifcme & & ol o R TR o R 08 o 9 T

(A) 75 T W T U § Wt 4 & U 1 HES W 4RITT i Y U 0 a6t o

(B) ST JUUM ) R PR Teh G & Sled  fole [ ol e gl

(C) % U i ity ST pomeh & i g o e QUR Wl § R B ] W R e

(D) T @ 3.3l et el & ot ) e, o e o 4 5 0 1 408 R Ui e & e & e A
e Jae & fou fewrq fem g

Frd few o foet 49 W) TR T

1. 93 (A), (B)3R (D)
237‘(1?1’(A}( R (C)

3(A), (B Ic)a?ﬂ(n
4 91 (8), (C) IR (D)

)
B)

Options :

878270212825. 1
878270212826. 2
878270212827.3

878270212828. 4

Question Number : 73 Question Id : 87827054067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(Pigment)

(Associated with)

(A). Phytochrome

(). Stimulation of flowering

(B). Leghaemoglobin

(11). Nitrogen fixation

(C). Chlorophyll a

(11I). Red algae

(D). Chlorophylld  |(IV). All photosynthesizing plants except bacteria

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (IV), (D) - (N1}

2. (A) - (1), (B) - (111}, (C) - (11}, (D) - (IV)

3. (A) - (), (B) - (1IN}, (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270212829. 1
878270212830. 2
878270212831. 3
878270212832. 4

Question Number : 73 Question Id : 87827054067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & Y -1 B e i

it -l

(frrEie) (SHP ATy Ha=)

(A) BISCIBIH (1) Tell i Faierl

(B) THTRARGIEH| (1) TS o RNl

(C) FERIET T (1) Tt Zare

(D) FARIET 21 |(1V) ST B SisHt Tl Hem S5y S are 91
T T e § S SE IR I

1.(A) - (1), (B) - (IN), (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (1T}, (C) - (1), (D} - (IV)
3. (A) - (), (B) - (1T}, (C) - (IV), (D) - (II)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212829. 1
878270212830. 2
878270212831. 3

878270212832. 4

Question Number : 74 Question Id : 87827054068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps involved in Hatch and Slack cycle in correct sequence-
(A). Carboxylation of Phosphoenaol Pyruvate

(B). Splitting of Malate

(C). Breakdown of Oxaloacetate

(D). Phosphorylation of Pyruvate

Choose the correct answer from the options given below:

=

1. (A), (C), (B), (D)
2. (A), (B
3. (B), (A)

),
),
),

-

= e

(
(
(

(]

)
)
4. (C), (B), (D), (A).

Options :

878270212833. 1
878270212834. 2
878270212835. 3
878270212836. 4

Question Number : 74 Question Id : 87827054068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 3R WP O% | I Fgfaiad 9o ©f 981 $9 | ooaiedd @ -
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1. (A), (C), (B), (D).
2_(A), (B). (C), (D).
3. (B), (A). (D), (C)
4 (C), (B), (D), (A).

Options :

878270212833. 1
878270212834. 2
878270212835. 3

878270212836. 4
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Which nutrient element is involved in energy transformation in metabolic processes ?

1. Molybdenum
2. 7inc

3. Sulphate

4. Phosphorus

Options:
878270212837. 1

878270212838. 2



878270212839. 3

878270212840. 4
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Options:

878270212837. 1
878270212838. 2
878270212839. 3

878270212840. 4



